
ΑΣΚΗΣΗ 01 

Να βρείτε την παράγωγο των πιο κάτω συναρτήσεων με την χρήση ορισμού. 

𝒅𝒚

𝒅𝒙
= 𝒇′(𝒙) =  𝒍𝒊𝒎

𝜟𝒙→𝟎

𝒇(𝒙 + 𝜟𝒙) − 𝒇(𝒙)

𝜟𝒙
= 𝒍𝒊𝒎

𝒉→𝟎

𝒇(𝒙 + 𝒉) − 𝒇(𝒙)

𝒉
   

𝑖) 𝑓(𝑥) = 𝑥 + 8 , 𝑥𝜖ℝ 

𝑖𝑖) 𝑓(𝑥) = 4𝑥 + 1, 𝑥𝜖ℝ 

𝑖𝑖𝑖) 𝑓(𝑥) = 𝑥2 + 3𝑥, 𝑥𝜖ℝ 

𝑖𝑣) 𝑓(𝑥) = √𝑥 + 1, 𝑥𝜖[−1, +∞) 

ΑΣΚΗΣΗ 02 

Να βρείτε την πρώτη παράγωγο των πιο κάτω συναρτήσεων  : 

01)   𝑓(𝑥) = 2020  

02)   𝑓(𝑥) = 𝜋𝑒 

03)   𝑓(𝑥) = 𝑥 

04)   𝑓(𝑥) = 𝑥9 

05)   𝑓(𝑥) = 𝑥−4 

06)   𝑓(𝑥) = 𝑥
5
3 

07)   𝑓(𝑥) = √𝑥25
 

08)   𝑓(𝑥) = √𝑥 

09)   𝑓(𝑥) =
1

𝑥7
 

10)   𝑓(𝑥) =
1

√𝑥
 

11)   𝑓(𝑥) =
2

√𝑥
 

12)   𝑓(𝑥) =
7

√𝑥
3  

13)   𝑓(𝑥) = 4𝑥7 

14)   𝑓(𝑥) = 𝜋𝑒𝑥 

15)   𝑓(𝑥) = 2𝜂𝜇𝑥 

16)   𝑓(𝑥) = 3𝜎𝜐𝜈𝑥 

17)   𝑓(𝑥) = 5𝜎𝜑𝑥 

18)   𝑓(𝑥) = −𝜀𝜑𝑥 

19)   𝑓(𝑥) = 8 𝜎𝜏𝜀𝜇𝑥 

20)   𝑓(𝑥) = 7𝜏𝜀𝜇𝑥 


